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B m m3 m3 m3

wKII 619.8 369. 4 250. 4
g ==pll 41.2 15.6 25.6
AERA 2.6 1.3 1.3
KA 74. 6 100. 7 -26. 1
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it OE = T T "5 E
# Al
B A B OB T 9 T B T Oty 1 B OE
[(EkI]
SECT 0.0 - 0.0
SECT 11.0 11.0 7.0 3.50 38.5
SECT 40.0 29.0 8.2 7. 60 220. 4
SECT 80.0 40.0 1.8 5.00 200.0
SECT 100.0 20.0 2.1 1.95 39.0
SECT 120.0 20.0 0.5 1.30 26.0
SECT 143.4 23. 4 0.0 0.25 5.9
(Zm2)
SECT 0.0 - 0.0
SECT 20.0 20.0 3.0 1.50 30.0
SECT 40.0 40.0 0.0 1.50 60.0
g 203. 4 619. 8




it OE i "5 E
B O*
B A BB T 9 T B T Oty 1 B OE
[(EkI]
SECT 0.0 - 0.0
SECT 11.0 11.0 2.3 1.15 12.7
SECT 40.0 29.0 5.1 3.70 107. 3
SECT 80.0 40.0 1.6 3.35 134.0
SECT 100.0 20.0 1.4 1.50 30.0
SECT 120.0 20.0 0.8 1.10 22.0
SECT 143.4 23. 4 0.0 0. 40 9.4
(Zm2)
SECT 0.0 - 0.0
SECT 20.0 20.0 1.8 0. 90 18.0
SECT 40.0 40.0 0.0 0.90 36.0
g 203. 4 369. 4




it E = + T it B OE
# Al

B A B OB C T 9 T B T Oty 1 B OE
[(FE@II]
SECT 45.0 - 0.7
SECT 65.0 20.0 1.8 1.25 25.0
SECT 83.0 18.0 0.0 0.90 16.2

38.0 M.2




it E = + T it B OE
B O*

B A B OB B T 9 T B T Oty 1 B OE
[(FE@II]
SECT 45.0 - 0.8
SECT 65.0 20.0 0.4 0. 60 12.0
SECT 83.0 18.0 0.0 0.20 3.6

38.0 15. 6




it E = + T it B OE
# Al
B A B OB C T 9 T B T Oty 1 B OE
[KER&)IN)
SECT 80.0 - 0.2
SECT 105. 7 25.7 0.0 0.10 2.6
25.7 2.6.




it E = + T it B OE
B O*
B A B OB B T 9 T B T Oty 1 B OE
[KER&)IN)
SECT 80.0 - 0.1
SECT 105. 7 25.7 0.0 0.05 1.3
25.7 1.3'




ada sl

at = T T iR
# Al

B A B OB T 9 T B T Oty 1 B OE

[(R&]
SECT 60.0 - 0.9
SECT 80.0 20.0 1.5 1.20 24.0
SECT 100.0 20.0 2.0 1.75 35.0
SECT 115.6 15. 6 0.0 1.00 15.6
g 55. 6 74.6




ada sl

at = T T iR
B O*

B A B OB T 9 T B T Oty 1 B OE

[(R&]
SECT 60.0 - 2.4
SECT 80.0 20.0 2.5 2.45 49.0
SECT 100.0 20.0 1.5 2.00 40.0
SECT 115.6 15. 6 0.0 0.75 1.7
g 55. 6 100. 7




it E = + T it B OE
# Al

B A B OB C T 9 T B T Oty 1 B OE
[Fuil)il)
SECT 0.0 - 0.0
SECT 17.0 1.7 1.5 0.75 1.3
SECT 28.0 11.0 0.0 0.75 8.3

12.7 9.6.




it E = + T it B OE
B O*

B A B OB B T 9 T B T Oty 1 B OE
[Fuil)il)
SECT 0.0 - 0.0
SECT 17.0 1.7 0.1 0.05 0.1
SECT 28.0 11.0 0.0 0.05 0.6

12.7 0.7'
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